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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
) e RE
= 1 54, 952, 161
KA - 0] T
= 1 210, 614
AR T
= 1 210, 614
BRARERTIS QEIESE)
= 1 210, 614
BRE T
= 1 23, 008, 856
PR BR AL
= 1 22,101, 201
SN
(i fa e =)
m2 333, 000 5.59 1, 861, 470
SN
Ua#=0
m2 138, 000 33.04 4, 559, 520
R
(O\))
m2 471, 000 16. 99 8,002, 290
kD)
m2 57, 700 2.73 157, 521
FEA - o)
m2 471, 000 10. 59 4, 987, 890
TR (BEBHBRED)
Ck71h)
m2 246, 000 5.31 1, 306, 260
TEH (BEBHBRED)
(REEBAT)
m2 225, 000 5.45 1, 226, 250
4 LR bR
= 1 907, 655
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
SN
(A)
m2 10, 700 68. 92 737, 444
SN
(B)
m2 1, 100 87. 21 95, 931
TE
= 15 4,952 74, 280
LERhARAE T
= 1 587, 020
CERAT
GEBE=E)D
= 1 42, 420
PR PRAR AL BRI A
m2 500 84. 84 42, 420
RARBRAR T
GEBESE)D
= 1 544, 600
A M (EE) A CNFTHE T 2 H)
m2 400 220.9 88, 360
AN () %)
m2 400 299. 8 119, 920
PR T 1S
(AR (B - % - #9))
m3 10 2,567 25, 670
PR T 1S
(AR (R - BR))
m3 10 3, 055 30, 550
PR T 1S
(e (B - 3£ - #9))
m3 10 2,567 25, 670
PR T 1S
(AT (R - BR))
m3 10 3, 055 30, 550
W5y
(A (B - % - #9))
m3 10 4,079 40, 790
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)
W5y
(AR (R - BR))
m3 10 5, 692 56, 920
WGy
(e (B - 3£ - #9))
m3 10 4,079 40, 790
W5y
(AT (R - BR))
m3 10 8, 538 85, 380
Ef L
= 1 2,204, 142
BESRALER T
GEBE=E)D
= 1 2, 045, 822
HTE BB LB
m2 471, 000 4.2 1,978, 200
HEFSRE SRS (N J7408E)
m3 4 7,893 31,572
W5y
(RHD)
m3 1 7,589 7,589
W5y
(Vi BEIEY)
m3 1 28, 461 28, 461
JERO TSR L CEFIR Y b)
= 1 158, 320
R EE R GaE - A7) HIE BRI
m2 2,000 8.91 17, 820
SRR (NJ7) piiay
m 100 397 39, 700
SRR (NJ7) & 3 E VM)
m 100 1, 008 100, 800
TRE R L
= 1 333, 800
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
P
= 1 333, 800
HERE b
m3 1, 000 218.5 218, 500
gt s AT oaLEE
= 1 115, 300
T ) 11 B e % T
= 1 1, 361, 440
TA77 v MEREEA &
(2B R YER)
= 1 1, 361, 440
N & FLE)T9vTy RC-30 41 10 JE 100
mm
(%)
m2 400 939. 6 375, 840
E3E] BRI T AT (13) 42 40m
m L 4mAds (U840 Ry
JZ50mmPL )
m2 400 2, 464 985, 600
b A P i
= 1 1, 986, 655
REEHIE T
= 1 199, 080
ENEETE WEMAY FAI7yve-77 RC-30
49mmPA L 55mmA
m2 600 331.8 199, 080
TA77 v MEREER &
CEWRY L)
= 1 1,589, 115
N & FLE)T9vTy RC-40 £ 10 JE 150
mm
(%)
m2 550 837.3 460, 515
E3E] FAESRI T AT, (20) A3 50m
m 1.4mPL E3. OmPL T
m2 550 2,052 1,128, 600
[ A T
= 1 198, 460
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HRYE (REIT) B 1A Mg 1.1m HHdsA
(A)
m 20 9,923 198, 460
= 1 2,909, 880
¥ RN RS T
= 1 2,909, 880
FRE v/ Atk TAV V0T 992, 4~2. 5m B
% B FhHA
] 120 24, 249 2,909, 880
NSV UEL N
= 1 11, 085, 415
JRBSLERERE T
GEBE=E)D
= 1 8, 886, 328
IYSY(E=S
= 1 8, 886, 328
JRBSLERERE T
CEWRY L)
= 1 1,671, 894
Iy SY(E=S
= 1 1,671, 894
KBx R L
GEBESE)D
= 1 527, 193
IR BB B A R
= 1 527, 193
FAFY - BRE AR L
U HEKERE)
= 1 6, 208, 260
E¥LT
= 1 138, 143
BIRT
= 1 4, 448, 699
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1557797 5" =} 800 X 800
T 1 4, 354, 603 4, 354, 603
2%y -} 24-12-25(20) (F&JF)
m3 2 29, 296 58, 592
AR SD345 D16~25
FELH)
t 0. 02 164, 222 3, 284
Tl
= 1 32, 220
TESNE K T
= 1 1, 555, 236
¥ Lavy)-h 18-8-40 (Fi4F) #JZ 10cm
m2 13 2, 498 32,474
VIR 24-12-25(20) (& JF)
m3 11 29, 296 322, 256
Tl
= 1 378, 585
AR SD345 D13
t 0.59 169, 440 99, 969
IEENINIYI Y7 CINNDE=Y
m 7 101, 702 711,914
B HibR TEE G B B =10
m2 3 3, 346 10, 038
[ A T
= 1 66, 182
HRYE (REIT) B 1A e 1. 1m 7vh—8 vhEE
m 2 33,091 66, 182
LR L
= 1 209, 760
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
ay))=h7 wy) L (REn7 vy ag)
= 1 209, 760
Ri%7" vy 9k 150ke/ B A5 #4 %.350mm {F VA7
©OF/EREA RC-40 18-8-40 (Fib)
(KP-2-1) JEIK Y~ e
m2 10 20, 976 209, 760
HERE T
= 1 488, 729
LT FT HERE T (F &4 HAT)
GEBE=E)D
= 1 488, 729
SN iR 0.8mEk 1. 0LL R 18-8-40 (&%)
03-SRG-07
m 6 28, 224 169, 344
i ek Im% 8 Z 2moA 18-8-40 (%)
03-SRG-11
m 5 63, 877 319, 385
HEE
= 1 91, 874
e B LT
= 1 69, 372
/) ) -MEIEBUE L MERHHE SN HABUIE 1
m3 4 9,175 36, 700
/) ) -MEIEBUE L ERAHEEY) HABUIE
m3 2 16, 336 32,672
TEHRALER T
= 1 22, 502
PRauRiiig av)Y)=hik (IE57)
m3 4 1,218 4,872
PRauRiiig av))=higk (8k75)
m3 2 1,511 3,022
ALy av9Y)=hik (IE57)
m3 4 2,229 8,916
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
ALy )=k (Bk)
m3 2 2, 846 5, 692
Gan
= 1 4, 265, 716
THHER T
GEBE=E)D
= 1 32, 594
THHER T
(see k=9
= 1 1,051, 827
- F - B T
(f& R X))
= 1 2,579, 209
KT
= 1 14, 953
1R IE T
= 1 87,016
TEHRALER T
= 1 111, 927
ARmE T
= 1 388, 190
AW B
B (Bf)
= 1 388, 190
B TR
= 1 54, 952, 161
I L
= 1 4,722, 830
B3 TS
= 1 652, 842
TR
= 1 44, 716
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
IERA TR
= 1 44, 716
BGmEsET (K30
= 1 608, 126
HIMGERE (FE L)
= 1 4, 069, 988
Wi
= 1 59, 674, 991
B
= 1 19,519, 818
T AT
= 1 79, 194, 809
— R
= 1 13, 855, 191
TS
= 1 93, 050, 000
THEBLFH Y %H
= 1 9, 305, 000
TH#&G
= 1 102, 355, 000
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